Installation Instructions
Mounting Shelf, FM-530-RD Remote Dispenser

This kit contains a sheet metal shelf, a
hardware bag and installation instructions.

@ The hardware bag contains:
5 ea. 5/16-18 x 1" Hex Head Cap Screws
8 ea. 5/16" Large Flat Washers
2 ea. 5/16" Small Flat Washers (Used with
bolt that goes thru keyhole shaped hole)
5 ea. 5/16" Lock Washers
5 ea. 5/16" Hex Nuts

The shelf is 11 ga. steel with edge flanges and welded corners for strength. The slots on the back of the shelf will
fit a variety of tank mounting situations using bolts (not included) or fitting the shelf to an existing stud pattern or
bolt hole pattern. The slot configurations will fit most popular stud or bolt hole patterns in use.

- 42— —1/2"X1-7/8" Slot 16.0 .
‘ - 85— = 2 Places + '
RN
T ‘:/‘_*—F i T
15 50 60 1.0 9.0
g DD;4L4
N
~—8.0—=
IR | 1/2" X 1-3/8" Slot 10— [+
4 Places
o [ \
e
[
FRONT OF DISPENSER FRONT OF DISPENSER
FACING FORWARD FACING LEFT

The FM-530-RD Remote Dispenser can be mounted in two different orientations on the shelf, facing
forward or facing left. The shelf has all necessary mounting and access holes for either orientation.

Page 1 of 2 REV.- 922032-01



Typical Assembly - Forward Facing FM-530-RD Remote Dispenser To Shelf
(For Left Facing Dispenser Rotate Dispenser 90° Clockwise)

T

Hex Head Cap Screw— \
Large Flat Washer—

Keyhole Shaped Hole
Used For Mounting Left
Facing Dispenser Only
(Use Small Flat Washers
Here When Mounting
Left Facing Dispenser)

AN

Keyhole
Shaped
Hole

Small Flat Washers

Use only at keyhole shaped
mounting holes (forward
facing dispenser and left
facing dispenser) to

provide clearance for ﬁ
1/2" rigid conduit thru ﬁ
adjacent access hole.

y/ /A
J //

Hex Nut—
Lockwasher—
Large Flat Washer- ﬁ

5252 East 36th Streat North
Wichita, KS USA 67220-3205
TEL: 316-686-7361

®  FAX: 316-686-6746

GPI is a registered trademark of Great Plains Industries, Inc GREAT PLAINS ”’”5"’/[5, INC.

© 2008 GREAT PLAINS INDUSTRIES, INC. Wichita, KS A Great Plains Ventures Subsidiary”

Printed in U.S.A. 02/08 Page 2 of 2 REV.- 922032-01



